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2nd Semester Examination

CHEMISTRY (Honours)
Paper - GE2T
Full Marks : 40 Time : 2 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group - A
1. Answer any five questions : 5x2=10
(a) HgCl, is white but Hgl, is red — why ?

(b) Electrovalent compounds are nondirectional but
convalent compounds are directional — why ?

(c) What is inert pair effect ?
(d) Define molecular collision and collision diameter.

(¢) For Zero order reaction rate of the reaction is
constant —FExplain.
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(2)

(f) Write the solubility order of silver halides in
water with explanation.

(g) Calculate the root mean square velocity of
hydrogen gas at 300k.

(h) Define Boyle temperature.
Group - B

Answer any five questions : 4x5=20

[~2

(a) What is latticl energy ? What does the —ve sign
of lattic energy mean ? 2

(b) Discuss the effect of lattice energy and solvation
energy on the solubility of electrovalent
compounds. 3

3. (a) Discuss the main characteristics of valence bond
theory. With the help of this theory explain
whether /," ion exists or not. 2+1

(b) The bond angte of NH, is 107°48 but that of
NF3 is 102°20. Why ? 2

4. (a) With the help of Born Haber cycle discuss
various steps to obtain a relation for lattice
energy of NaCl 3
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{3 )
(b) With the help of VSEPR theory discuss the

structure of Isze jon. 2

5. (a) Find the number of molecular collisions suffered
by the moleules present in 1 c.c of gas per
second at constant temperature and pressure. 3

(b) How does viscosily of a gas change with
temperature ? Explain. 2

6. (@) Deduce a relation for corrected presoure for n
moles of a real gas. 2

(b) The ‘b’ value for a van der waal’s gas is
4.42%1072 timole. Calculate the diameter of a
molecule of that gas. 3

7. (a) Define rate and rate constant of a chemical
reaction. What is the difference between them ?

2

(b) Deduce the intergrated rate equation for a [st
order reaction. 3
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(4)
Group-C

Answer any one question : 1%x10=10

8. (a) Write Arrhenius equation to show dependence of
temperature on rate constant of a reaction and
explain the terms involved. 2

(b} Using Arrthenius equation show how activation
energy of a reaction can be measured ? 3

(c) Discuss the impottance of critical temperatuxf: for
liqufaction of a gas. 2

(d) Deduce an expression to determine the Viscosity
of a liquid by Ostwald Viscometer. 3

9. (a) Define bonding and antibonding molecular orbital.
2

(b) Explain with the help of MO theory, for which
ion between N,™ and N,%~ bond length is higher.
: 2

(c) Sncl, is solid bul Sncl, is liquid — why ?
Explain ? 2
(d) Write a comparative discussion between gr-14

and gr-15 elements with respect to their
electronegativity and electron affinity. 4

42343/39-1500



(5)
JAT
e ety FRytafer e Mo |
3w v qAPTER FCTE o Tew Rt AteH |
faent - =
s Fiva eefim @ F Al Tew wie ¢ ex3
(F) HgCl, 7w & Hgl, oo (2 T I 1

() SR @aeler afeyy R e &
(Aoiaferm wfony e | —@? TR 71

(1) Tfe Seiahn CalteR 2R FNE A2
(@) siiEE Ty 8 Wad [ TS F @R

(8) *w W RiFm cwg RiFaw @ &F @—
APt |

(5) TaE WY FEer PEiRe o wRyo @
ford @ I 7

(%) 300k Swow TGS PR 517G I1facsig a5
T I A AR I

(&) TS G PP A7

[ Turn Over |
423/3/39-1500



(6)
freret - 4

ficsa eefEm @ @ el e wre o 8x¢

X (F) Tl =& BT M7 B AT —ve (A7)
W = @Ry

(¥) sive @B (AR TGRSR Bow G =fE @
QT e 2oR ST 39 ©

O (F) OITEA Q¢ ©ET ¥ Rk Snamar 99
€% CTGA A [, AR wiew wrs =
[T T 3+Y

() NH; S0 T (FI 107°48° 58 NF, wieg
T (I 102029 @47 T 7 2

81 (%) Born Haber BL&d W& NaCl D54 =15 =i
et o= ity o7 ¢ aminy gl
TS 37| ©

(4) VSEPR vcag 72wy [Cl,™ s siew el
22 A F 3

¢ 1 (F) e vio ¢ Bwen @ MeE e siEeE
(1 c.o) ofS oate wmiF seuts we fdfa
F| 0

423/3/39-1500



{ 7 )
(4) ST g Sivmae AiRs a4 wefoe o1
A F4 | 8

Y| () n = TME mwwww
NG T AReRet 2fSetme 391 3

() <=6 S ST MER b = 4.42x1072 li¥mole,
& N =97 AP 9 WefT 7 ©

11 (%) RfFam 29 o 99 99 T A2 AT T
sef e 5

(¥) 9= TN RFAR e w4l (Integrated form)
sl 37 | ©

et - o
g et (0 W gl Ter e ¢ sxdo

v (%) Rfen graz Smet Meaen sREiEmoR
Wl (14 aR IATe eoefead sl
= 2

() SRERWATE AN 7T FE @ ey
ﬂﬁ@ﬂﬁ%%@mﬁ@wwwml ©

(51) ST STAFIALAT LG FRI6 TR 6FG @74 |
&

[ Turn Over ]

423/3/39-1500



(8)

(9) Senrs foTaNGas R (= Sqed
Rrget feftag T affestm 231 o

5| (F) afer ¢ wiifs IRR ualke 35T e & @Rz
]

(}) MO STga AR N6 N2~ e qfod 0
b 3w i A =2 i 29| 2

(1) Sncl, ¥ &G Sncl, o7& @2 G A1 3

() st 8 e @ (A9 offm ofte wdigTs ¢
BAFCR WES ATATE DTS e 9

8

423/3/39-1500

o



